
Practice Exam 4 (Business) 
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9 Steve runs 5000 m every day.  His times for 12 days are as follows: 

 

Day Time (min.) 

1 23.2 

2 25.1 

3 24.3 

4 23.0 

5 24.3 

6 23.6 

7 23.0 

8 24.2 

9 23.4 

10 22.7 

11 24.0 

12 23.8 

 

a. Calculate suitable moving averages. 

b. Plot the daily times along with the moving averages on a graph. 

c. Draw a suitable trendline and extrapolate it to day 16. 

d. Calculate the average daily variation for days 4, 7 and 10. 

e. Forecast the time for day 16. 

 

 

 

10 (a)    Express the following simultaneous equations as a matrix equation: 
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(b)    Hence, solve the simultaneous equations. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Practice Exam 4 Answers 
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9 

Steve's 5000m Times
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Day Time Moving Av. Daily Var. 

1 23.2 

2 25.1 24.2 

3 24.3 24.13 

4 23.0 23.87  –0.87 

5 24.3 23.63 

6 23.6 23.63 

7 23.0 23.60  –0.6 

8 24.2 23.53 

9 23.4 23.43 

10 22.7 23.37  –0.67 

11 24.0 23.5 

12 23.8 

Average daily variation for days 1, 4, 7 and 10 = 71.0
3

67.06.087.0
−=

−−−
 

Value from trendline for day 16 = 22.9 

Forecast for day 16 = 22.9 – 0.71 ≈ 22.2 min. 
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